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Which is a purpose of Short Interval Management (SIM)?
Response:

A. Create high-level visualization of the process

B. Identify the root cause of faults or problems

C. Trigger appropriate and timely action

D. Understand and prioritize customer requirements

Answer: C

Which is the philosophy shared by Lean and Six Sigma?
Response:

A. Always set out to win, at the expense of all others

B. Enhance customer value to help an organization achieve its goals
C. Doing the same work with less people

D. Focus on producing higher volumes of stock and sell them cheap

Answer: B

A company produces parts for large car manufacturers, such as BMW and Volvo. Management at this
company is committed to continuously improve manufacturing standards and practices.

Which method best suits this approach?

Response:

A. Kaizen

B. Poka Yoke / Error proofing
C. Teamwork

D. Visual management

Answer: A
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How are the inputs defined in the SIPOC technique?
Response:

A. Individuals or teams who provide inputs into the process

B. Items or information needed to execute the process and deliver the outputs
C. Measures of the process Critical to Quality (CTQ)

D. People who the process affect or benefit from the outcome

Answer: B

The project leader of an improvement project must determine the project Critical to Quality (CTQ).
Which is the correct formulation for a CTQ?
Response:

A. Perfect delivery of the products

B. The delivery time of the products

C. The efficiency of the production process
D. The safety of the production process

Answer: B

5S workplace organization is a method that fits into one of the DMAIC phases. What is the phase called?
Response:

A. Analyze
B. Define
C. Improve
D. Measure

Answer: C

Which type of correlation is not a recognized relationship?
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Response:

A. Negative correlation
B. No correlation

C. Positive correlation
D. Simple correlation

Answer: D

What step in the 55 methodology requires that equipment safety and emergency procedures are
defined?
Response:

A. Seiketsu - Standardize
B. Seiso - Shine

C. Seiton - Straighten

D. Shitsuke - Sustain

Answer: A

Which is an important requirement of the data collected when sampling data?
Response:

A. Based on random samples

B. Measured on a continuous scale
C. Qualitative in nature

D. Quick and easy to collect

Answer: A

What is the main goal of data visualization?
Response:

A. Communicates findings and conclusions of data analysis to others

B. Enables the organization to be 80% correct today, rather than 100% correct in 6 months
C. Encourages out-of—the-box thinking to generate as many ideas as possible
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D. Identifies and eliminates the root cause of faults or problems

Answer: A
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